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Wrong notion: On simultaneous elections
The idea of simultaneous elections is inherently anti-federal

Notwithstanding the opposition from political parties and many in civil society to the idea of
simultaneous elections, the Union government has decided to accept the recommendations of a high-
level committee headed by former President Ram Nath Kovind to go ahead with the scheme. The
committee envisaged simultaneous Lok Sabha and State Assembly elections as the first step, followed
by municipal and panchayat polls within 100 days of the general election. In order to do so, the
government would need to get constitutional amendments to be passed, in Parliament and in the
State Assemblies. Two key reasons have been evinced for the proposal — first, the costs of
conducting these elections would be significantly reduced if held together, and, second, not having
simultaneous elections has kept political parties in prolonged campaign mode, impacting governance
and legislative work. There has been little to no empirical data to support the first reason. Already,
general elections take an inordinately long time, with some State polls being held in phases.
Simultaneous elections could prolong this process. One of the committee’s recommendations is that
if a State Assembly gets dissolved before five years of its term, after the “appointed date” — the date
for synchronising Lok Sabha and Assembly elections — fresh “midterm” elections will be held but the
new Assembly’s will not have a full five-year tenure. Its tenure will end five years from the “appointed
date”. This provision militates against the original idea of cost cutting through simultaneous elections.
It is also an anti-federal idea.

In a multi-tiered governance system, people choose their representatives based on their perception
of who is best suited. The power being demarcated for different levels of government allows for
distinct roles for each representative and suggests varied voter choices that could be based on party
affiliation, candidate strength, ideological positions or socio-economic reasons that are constituency-
specific. Each tier has its exclusive importance and so does the related election. The second reason,
that representatives are in perennial campaign mode and, therefore, polls to every tier should all be
held during the same period, is problematic. For one, that national representatives of parties are
forever in campaign mode is a consequence of the centralising tendencies of parties that are in
power today and is not a reflection of the extant electoral democratic system. Second, subsuming
multi-tier elections into simultaneous mode has the potential to reduce the importance of each tier,
especially the Assembly and municipal/panchayat levels, and is anti-federal. Lastly, to effect this
proposal, the tenures of quite a few State governments will have to be cut short. Parties and civil
society actors committed to federalism must squarely reject this proposal by the Union government.

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’

denotes ‘subject’ and ‘blue’ denotes ‘verb’. |[Practice Exercise]‘
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10.

11.

Vocabulary
12.

Notion (noun) — Idea, belief, concept,
perception, understanding 3ITYRUIT

Simultaneous (adjective) — Occurring at
the same time, concurrent, synchronous,

happening together Teh TTY gl ATell

Inherently (adverb) — Naturally,
intrinsically, fundamentally, essentially

TATATI G T T

Anti-federal (adjective) — Opposed to
federal principles, against decentralization,

anti-devolution I faTref

Notwithstanding (adverb) — Despite, in
spite of, regardless of, even though 3?!33

CICK

[N
Envisage (verb) — Imagine, foresee,

anticipate, contemplate sheYdll shiadT

Follow (verb) — Come after, succeed,

ensue, result from a?a'l?.\"élo‘-ll

In order to do (phrase) — To accomplish, to

achieve, for the purpose of dTfeh

Amendment (noun) — Modification,

change, alteration, revision TAET

Evince (verb) — Show, demonstrate, reveal,

exhibit F& T LT

Prolonged (adjective) — Extended, lengthy,
drawn-out, protracted e

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Empirical (adjective) — Based on
observation or experience, evidence-

based, experimental, factual 3-]?::[343‘@@'

Inordinately (adverb) — Excessively, overly,
unusually, disproportionately 3Tcafeish

Prolong (verb) — Extend, lengthen, delay,
stretch o€ ST

Dissolve (verb) — Disband, end, terminate,
disintegrate 3T AT

Synchronise (verb) — Align, coordinate,
harmonize, match TT-ATY gl

Provision (noun) — Clause, condition,

stipulation, requirement 9Td€TeT

Militate against (phrasal verb) — Work
against, oppose, hinder, obstruct farer

Tl

Multi-tiered (adjective) — Layered, multi-
level, hierarchical, stratified ag-z-—clﬁ'zr

Governance (noun) — Administration,

management, control, regulation T«

Perception (noun) — Understanding,

viewpoint, awareness, insight €ITXOTI

Demarcate (verb) — Define, mark,
delineate, separate HIHATThd AT

Varied (adjective) — Diverse, different,
assorted, mixed Tafaer

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in

Website: www.englishmadhyam.info, Phone number: 7722987077

Page 2




JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

24.

25.

26.

27.

28.

29.

30.

31.

32.

Affiliation (noun) — Association,

connection, alliance, relationship Hegdl

Ideological (adjective) — Related to ideas,
political, philosophical, doctrinal JaTRe

Socio-economic (adjective) — Related to
society and economy, social and financial

AT SS-3m s

Perennial (adjective) — Persistent,

enduring, continuous, perpetual fadaX

Problematic (adjective) — Troubling,
difficult, concerning, complicated

HAEIcHS

Consequence (noun) — Result, outcome,

effect, impact gRoT

Centralising (adjective) — Concentrating
power, unifying, consolidating WUT
et aTell

Tendency (noun) — Inclination,

predisposition, propensity, trend ‘;I?:Ic%f

Reflection (noun) — Indication, sign, mirror

image, representation gfafss

33.

34.

35.

36.

37

38.

39.

40.

Extant (adjective) — Still existing, surviving,

current, present EI?-‘I?TI?-T

Subsume (verb) — Include, incorporate,
absorb, encompass aiFaferd s

Potential (noun) — Possibility, capability,
ability, prospect &THT

Effect (verb) — Implement, bring about,
achieve, execute SRITfedd AT

. Cut short (phrase) — to end (something)

earlier than expected TATHTTdS THAT &
ggel 37 & gl

Committed (to) (adjective) — Dedicated,
loyal, devoted, resolute ITdeg

Federalism (noun) — a system of
government in which powers have been
divided between the centre and its
constituent parts such as states or

provinces. HYdIq

Squarely (adverb) — Directly, firmly,
without hesitation, straightforwardly ¥Itc

E k)
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10.

11.

12.

13.

14.

15.

Summary of the Editorial
The Union government plans to implement simultaneous elections based on
recommendations from a high-level committee led by former President Ram Nath Kovind.
The committee proposes holding simultaneous Lok Sabha and State Assembly elections,
followed by municipal and panchayat polls within 100 days.
Constitutional amendments are required for this scheme, which must be passed by both
Parliament and State Assemblies.
Two reasons are cited for the proposal: cost reduction and preventing political parties from
being in constant campaign mode.
There is no significant empirical evidence to support the claim that simultaneous elections
would cut costs.
Simultaneous elections could potentially prolong the election process rather than shorten it.
A recommendation is made for “midterm” elections if a State Assembly dissolves early, with
the new Assembly’s term synchronized with the national election date.
This provision contradicts the goal of cost-cutting and is seen as an anti-federal measure.
In a multi-tier governance system, people elect representatives based on local issues, party
affiliation, and other factors unique to each tier of government.
Each governance tier, including Lok Sabha, State Assemblies, and local bodies, holds unique
importance and should have distinct election periods.
The idea that politicians are always in campaign mode is more a reflection of centralizing
tendencies in today’s politics, not the electoral system itself.
Holding all elections together risks diminishing the importance of Assembly and local body
elections, undermining federalism.
The proposal could require the premature dissolution of several State governments, cutting
short their terms.
The editorial argues that the simultaneous elections scheme is fundamentally anti-federal, as it
reduces the autonomy of state and local governments.
Parties and civil society groups that value federalism are urged to reject this proposal.
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Practice Exercise: SSC Pattern Based
1. According to the passage, which of the following is one of the primary reasons given in
support of simultaneous elections? ‘[Editorial Page]‘
A. It will lead to the complete abolition of the panchayat system.
B. It will allow political parties to focus more on governance and less on campaigning.
C. It will ensure a uniform term for all state governments.
D. It will enable every state to have elections on the same date every year.
2. What can be inferred as one of the main criticisms against the idea of simultaneous elections
from the passage?
A. It will ensure that all elections are conducted fairly.
B. It will help political parties save resources.
C. It may conflict with the federal structure of governance.
D. It will allow the government to avoid amendments to the Constitution.
3. Choose the word that is most opposite in meaning to "prolong" as used in the passage?

A. Lengthen
B. Extend
C. Expand
D. Shorten

4. Which of the following is true about the committee’s recommendation for simultaneous
elections, as mentioned in the passage?
A. The recommendation suggests midterm elections for State Assemblies will have a full five-
year tenure if held before their scheduled time.
B. The committee recommended that simultaneous elections would reduce the time taken
for general and state elections.
C. The committee proposed that if a State Assembly is dissolved before its term, its next
tenure would end five years from the "appointed date."
D. Simultaneous elections would ensure that costs of conducting elections will definitely
decrease.
5. According to the last paragraph of the passage, why is the proposal for simultaneous
elections considered problematic?
A. It diminishes the significance of the Assembly and municipal/panchayat elections.
B. It leads to better governance at the local level.
C. It reduces the importance of national elections.
D. It ensures that voters choose representatives based on socio-economic issues.
6. Select the correct option to form a meaningful sentence.
Little progress (a)/ has been suffering (b) / have been made in (c) / seems to (d)/ checking the
alarming (e) / and pollutants (f) / levels of toxic heavy metals (g) / that Punjab (h) / in
groundwater (i) / for decades (j) / from (k)
A. a,d,cefihgkijb
B. a,d, e k,f,ihDb,g,jc
C. a,d,b,efihcgk,j
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10.

11.

D. a,d,c,e g fihbKk,j

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Oil is almost certainly one of the ocean's greatest resources. 33% of the world's oil comes from
seaward fields in seas. Qils are liquids that easily burn and do not (1) in water.

Most of the time, they are made of chains of carbon and hydrogen atoms. There are three
(2) types of oils: mineral, essential and fixed oils. From plants, essential oils are thin,
scented oils. Because they frequently have an odour, essential oils are (3) in perfumery
and food flavouring. Aromatic extraction processes like cold pressing, distillation and
extraction are typically used to prepare essential oils. Fatty acids are used by animals and
plants to make fixed oils. They are especially non-volatile oils that are found in the seeds of
cotton, corn, flax, sunflowers, peanuts, coconuts and olives, as well as in fatty animal tissues.
Mineral oils are (4) from petroleum which has been underground for millions of years
from sea organism skeletons. Mineral oils are one of the petroleum by-products with the
lowest prices. Mineral oils are colourless and transparent. They are madeup ofa (5)  of
hydrocarbons

Select the most appropriate option to fill in blank number 1.

A. dissolve

B. diffuse

C. evaporate

D. melt

Select the most appropriate option to fill in blank number 2.

A. initial

B. original

C. primary

D. early

Select the most appropriate option to fill in blank number 3.

A. operated

B. utilised

C. applied

D. employed

Select the most appropriate option to fill in blank number 4.

A. renewed

B. produced
C. fabricated
D. invented

Select the most appropriate option to fill in blank number 5.
A. association

B. collaboration

C. combination

D. cooperation
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12. Select the most appropriate option that can substitute the underlined segment in the given

sentence. If there is no need to substitute it, select ‘No substitution required’.
Applications are to be sent to the school’s e-mail ID before 30th June.
A. issending
B. would be send to
C. No substitution required
D. will be send to
13. Select the most appropriate option to fill in the blank.
The in my shoelace created a lot of trouble.
A. nought
B. not
C. knot
D. naught
14. Select the most appropriate option to fill in the blank.
The crowd gave them a of applause
A. vell
B. load
C. round
D. laugh
15. Select the most appropriate option to fill in the blank.
A sailor was through the high tides
A. swelling
B. ceiling
C. selling
D. sailing
16. Select the most appropriate ANTONYM of the given word.
Important
A. Recurring
B. Trivial
C. Significant
D. Productive
17. Select the most appropriate ANTONYM of the given word.
Merit
A. Fault
B. Tumult
C. Result
D. Occult
18. Select the correct spelling of the underlined word in the following sentence.
| am contant with my day’s work.
A. content
B. contint
C. contante
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D. cuntent
19. Select the most appropriate homophone to fill in the blank.
Namita still cannot the pain of her cat’s untimely demise
A. bier
B. bear
C. beer
D. bare
20. Select the most appropriate meaning of the underlined idiom.
Vishnu and Vignesh are always like two peas in a pod.
A. Very similar to each other
B. Smart and intelligent
C. Happy and compassionate
D. Good in every way
21. Select the most appropriate option that can substitute the underlined segment in the given
sentence.
He lived on the bank of a mighty river, broad and deep, that have always silently rolling on to
a vast undiscovered ocean.
A. that were always silently rolling
B. which were always silently rolling
C. what has always silently rolling
D. which was always silently rolling
22. Fill in the blank with the most appropriate ANTONYM of the underlined word.

Gentlemen always go for a lawful approach, but rouges choose ways to solve
problems.

A. legitimate

B. sophisticated

C. illicit

D. legal

23. Select the INCORRECTLY spelt word
A. Astounding
B. Adulterous
C. Amendment
D. Advertisment
24. Select the most appropriate option that can substitute the underlined segment in the given
sentence.
The painting look good in this room.
A. have looking
B. looks
C. had look
D. looking
25. Select the most appropriate option that can substitute the underlined segment in the given
sentence.
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If you are thinking about investing in share markets, isn’t it make sense to find an expert?
A. doit

B. isit

C. didit

D. doesn’tit
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Answers
1. B 2¢C 3D 4C 5A 6D 7.A 8C 9B 10.B 11.Cc 12.C
13.C 14.C 15.D 16.B 17.A 18A 19B 20.A 21D 22.C 23D 24.B
25.D \[Practice Exercise]\
Explanations

1. B) It will allow political parties to focus more on governance and less on campaigning.
The passage states that one of the key reasons given for the proposal is that not having simultaneous
elections has kept political parties in prolonged campaign mode, which affects governance and
legislative work. Holding simultaneous elections would allow parties to focus more on governance.
A is incorrect because there is no mention of abolishing the panchayat system in the passage.
Cis incorrect because the passage discusses synchronising elections but not ensuring a uniform term
for state governments.
D is incorrect because the passage mentions synchronising elections but does not suggest holding them
on the same date every year.

2. C) It may conflict with the federal structure of governance.
The passage clearly states that the proposal of simultaneous elections is "an anti-federal idea." This
shows that one of the key criticisms of the proposal is that it may infringe on the federal structure,
where State and Central governments operate independently.
A is incorrect because there is no mention in the passage of fairness being improved by simultaneous
elections.
B is incorrect because although the passage mentions cost-cutting, it does not indicate saving resources
as a central benefit for political parties.
D is incorrect because the passage explicitly states that constitutional amendments would indeed be
required to implement simultaneous elections.

3. D) Shorten
In the passage, "prolong" is used to indicate something being extended over a long period. The
antonym of prolong, in this context, is "shorten," which means to reduce the duration.

4. C)The committee proposed that if a State Assembly is dissolved before its term, its next tenure
would end five years from the "appointed date."
Cis correct because the passage clearly mentions, "if a State Assembly gets dissolved before five years
of its term, after the 'appointed date,' fresh 'midterm' elections will be held, but the new Assembly’s
tenure will end five years from the 'appointed date."
A is incorrect because it states that the next Assembly will have a full five-year term, which contradicts
the committee's recommendation.
B is incorrect because the passage says that simultaneous elections could prolong the process, not
shorten it.
D is incorrect as there is no empirical data to prove that simultaneous elections will definitely reduce
costs.

5. A) It diminishes the significance of the Assembly and municipal/panchayat elections.
A is correct because the passage states, "subsuming multi-tier elections into simultaneous mode has
the potential to reduce the importance of each tier, especially the Assembly and municipal/panchayat
levels."
Cis incorrect because the national elections' importance is not diminished; rather, local and Assembly
elections are.
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B is incorrect as the passage criticizes the proposal, implying that governance might suffer due to
reduced importance of certain tiers.
D is incorrect since it does not address the problem of reducing the importance of Assembly and
municipal elections, which is the main issue mentioned.

6. D)a,d,c,e g fihbKk,j
a: This starts the sentence by introducing the subject, "little progress."
d: This phrase connects to "Little progress" by indicating a perception. "Seems to" is necessary to link
the subject to the rest of the sentence
c: This phrase completes the main clause. "Seems to have been made in" connects back to "little
progress" and explains the area of focus where progress is lacking.
e: This phrase follows naturally, describing "checking the alarming" levels, which is the action in which
little progress has been made. It adds the problem of concern
g: This specifies "the alarming" factor: toxic heavy metals. It completes the description of what is being
checked.
f: This adds another problem, "pollutants," that is connected to the "levels of toxic heavy metals."
I: This phrase specifies where these alarming levels and pollutants are being found, giving context: "in
groundwater."
h: This identifies the region, "Punjab," that is facing this issue. It makes the sentence region-specific and
ties the pollution problem to Punjab.
b: This part explains that "Punjab has been suffering," meaning the state has been enduring the
problem for a long time. This verb phrase indicates a long-term issue.
k: This preposition introduces what Punjab is suffering from, preparing to explain the duration or
source of the suffering.
j: This concludes the sentence by indicating the duration: "for decades." It indicate the time frame for
how long Punjab has been suffering from the issue.

7. A)'Dissolve’ & AT B &rifeh "dissolve" &l 312 BT § fohell ward &7 forell et & q
T BT 1| ST diffuse’ T 37 § tholleTT, 'evaporate' 3T 3727 & arfSud g1, 31K 'melt’ &r
3 & e, o 38 et F ady 7E 2

e 'Dissolve’ should be used because it means to completely mix a substance in a liquid. Whereas,

'diffuse' means to spread, 'evaporate' means to turn into vapor, and 'melt' means to turn from
solid to liquid, which don't fit in this context.

8. C)'Primary' &I ST g Fifeh "primary" T 314 gIcT & HATT AT YHE YehR| SAafh initial
FT 37 § URIAS, 'original' 1 31 § \ifew, 31K ‘early' FT 37 § o), St 39 ¥ & TEY
el gl

e 'Primary' should be used because it means main or chief types. Whereas, 'initial' means beginning,
‘original' means first, and 'early' means early, which don't fit in this context.

9. B)'Utilised' T YATT G ik "utilised" &1 31 § fohell faAW 3227 & fov Fo 37T
FAT| STdfh 'Operated' ST 3N § TETIT e, 'Applied' T ITE I FT, 3T 'Employed:
F 7Y § A 1 & T &1 W) @, S 39 dedf J @ T8 el

e 'Utilised' should be used because it means to use something for a particular purpose. Whereas,
'Operated' means to operate, 'Applied' means to apply, and 'Employed' means to hire for a job,
which don't fit in this context.
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10.

11.

12.
13.

14.

15.

16.

B) 'Produced' 3T TATT BT AT "produced" T I gar & A DT AT Jr 9
&TAT| STdieh 'Renewed' & Y § sdleiiehc] e, 'Fabricated' HT 371F § GaAT AT AR T,
3R 'Invented' &1 31 § 3NTISHR LT, ST 58 Taof 7 TEY 7ET B

e 'Produced' should be used because it means to create or obtain something. Whereas, 'Renewed'
means to make new again, 'Fabricated' means to construct or create, and 'Invented' means to
create something new, which don't fit in this context.

C) 'Combination' ST JAIT B9 FAifeh "combination" &7 372 giar & Aff=a dcal &1 Fsor|
STafeh 'Association' T 37T %’ ﬁ'q"‘f’-T, 'Collaboration' &T 37 %’ H%'Q’I?T,&ﬁ'\" 'Cooperation’ ol 379 %
HEhIRT, St 56 Hesl & v «ieh ¢
e 'Combination' should be used because it means a mixture of different elements. Whereas,
'Association’ means relationship, 'Collaboration' means cooperation, and 'Cooperation' means

working together, which don't fit in this context.
C) No substitution required

'C) Knot' ST use g i ‘5|3' T H, sentence H GIc\FiT F Hra Hr gaET Hr T & @ L
gl "The in my shoelace created a lot of trouble” & HTETH & 38 THEAT &Y 20T ST
@1 8, [ ad BId & s dr a1 & S W@ E1 SATAT, "knot" H U fashed glam|

e ‘Knot' should be used because in the entire context, the sentence is discussing the trouble caused
by something in the shoelace. Here, through "The in my shoelace created a lot of
trouble", it portrays that specific problem related to the shoelace, which is a knot. Thus, "knot"
would be the most appropriate choice.

C) Round' T use R Fifeh q3 el #, sentence 3 CarT &1 IS TET @ g2AT @I &1 T@T
"The crowd gave them a (3) of applause" & FTEIH & 39 dlferdr $r 3\1;\?[ FI TFd
fRaT ST QT §, S Ueh AHT AT § 319 is Yeiel AT 91 WE1T gl gl 3afaly,
“round" T IR Rided @il

e ‘Round' should be used because in the entire context, the sentence is discussing the appreciation
given by the crowd. Here, through "The crowd gave them a (3) of applause," it
portrays that echo of clapping, which is a common practice when a performance or effort is
commendable. Thus, "round" would be the most appropriate choice.

'D) Sailing' 3T use g Fifh ‘5|3' ot &, sentence HHG H te Aras v afafaeat & ==t
FT TET &1 T@T "A sailor was through the high tides" & HATEIH & 3T AMdS I gl
& T I T o fhar ST T@T &1 $HTAT, "sailing” HE® 39S fashed glam|

e ‘Sailing' should be used because in the entire context, the sentence is discussing the activities of a
sailor in the sea. Here, through "A sailor was through the high tides," it describes the
sailor's journey through the waves. Thus, "sailing" would be the most appropriate choice.

B) Important (adjective) — Of great significance or value, essential, crucial, key. ?FI?F:l'qt;UT

Antonym: Trivial (adjective) — Of little value or importance, insignificant, minor. d=s

e Recurring (adjective) — Occurring again periodically or repeatedly. ‘EI)?ITI—CIT-ﬁ
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17.

18.

19.

20.
21.

22.

23.

¢ Significant (adjective) — Sufficiently great or important to be worthy of attention, notable,

consequential. H%c?'q"\cﬁ'

e Productive (adjective) — Achieving or producing a significant amount or result, fruitful, effective.
3CC|IEEI)
A) Merit (noun) — The quality of being particularly good or worthy, especially so as to deserve praise or

reward. I3, T

Antonym: Fault (noun) — An unattractive or unsatisfactory feature, especially in a piece of work orin a
person's character. &Y
e Tumult (noun) — A loud, confused noise, especially one caused by a large mass of people. BIelTgel
e Result (noun) — A consequence, effect, or outcome of something. gRome
e Occult (adjective) — Relating to mystical, supernatural, or magical powers. aed

A) The correct spelling of ‘contant’ is ‘content’ which means “in a state of peaceful happiness” in@“_c",

4.
B) ‘bear' &l greT ('fl?'IT FiTh CI3' T ﬁ,sentencea‘-lﬁHT I 3TF Sedt & A FuT &
FHRUT gt aTel ¢ I TaT &Y I@T &1 T@T "Namita still cannot (17) the pain of her cat’s

untimely demise" & ATEIH ¥ 3T ATGIcHS & I ST ST T g, forgd "bear" &7 3727 g
FLAT 8T g1 ST, "bear" T 39gFd QereT gram|

e ‘bear' should be used because in the entire context, the sentence is discussing the pain Namita
feels due to her cat’s untimely demise. Here, through "Namita still cannot (17) the
pain of her cat’s untimely demise," it portrays the emotional pain where "bear" means to
endure or tolerate. Thus, "bear" would be the most appropriate choice.

A) Like two peas in a pod (idiom) — Very similar to each otheragﬁ HHATT
D) 'which was always silently rolling' &T 14T &I Fifeh 'river' & ToIT 'which' ST ITT &Il &
3R 'river! Singular %’,sﬂﬁl’ﬂ"was'aﬁr TART AT F@f ?ITITI FI?I’ GIER] 31?1'[: He lived on the bank

of a mighty river, broad and deep, which was always silently rolling on to a vast undiscovered ocean.

» 'which was always silently rolling' will be used because 'which' is used for 'river,' and since
'river' is singular, 'was' is the correct verb. The correct sentence should be: He lived on the bank
of a mighty river, broad and deep, which was always silently rolling on to a vast undiscovered
ocean.

C) Lawful (adjective) — Legal, legitimate, permitted by law. 3T
Antonym: lllicit (adjective) — Forbidden by law, rules, or custom, illegal, unlawful. ?\W?-I‘\?ﬁ
e Legitimate (adjective) — Conforming to the law or to rules, legal, authorized. aer
e Sophisticated (adjective) — Complex, refined, cultured, worldly. \_ﬂﬁ'ﬂ/ qﬁ%
e Legal (adjective) — Of, based on, or concerned with the law, lawful, permitted by law. W

D) The correct spelling of ‘Advertisment’ is ‘Advertisement’ which means “a public notice or

announcement, especially one promoting a product, service, or event” faaiTdeT.
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24. B) look' & ol 'looks' ST TATIT g’l?lT FIifh subject 'The painting' singular% 3 Verb & FTY-TTYT

subject ar singular ?IHT Elli%U; 38— The painting looks good in this room.
e 'looks' will be used instead of 'look' because the subject 'The painting' is singular and both the
verb and the subject should be singular; Like— The painting looks good in this room.

25. D) 'doesn’t it' &bl useglFlll FiTh g Uch Tag Question% iR g 'make sense' & TTYT YT

fRaT STUaT St fF Present Tense & g1 S8 — If you are thinking about investing in share markets,
doesn’t it make sense to find an expert?
o 'doesn’tit' will be used because this is a Tag Question and it will be used with 'make sense'
which is in Present Tense; Like— If you are thinking about investing in share markets, doesn’t it
make sense to find an expert?
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